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(1) TER 9« (2) i Hidesed
(3) e el (4) To= TEE
played the leading role in integrating the Indian Princely States.
(1) Sardar Patel (2) Lord Mountbatten
(3) Lord Attlee (4) Rajendra Prasad

2. AT toad GEaTd el IS HITAT gL Sl v 8 7

(1) =i s @) S HRm

(3) IS HISeseA (4) A€ Hea

Who was the Governor General of India when Railways were introduced ?
(1) Lord Dalhousie (2) Lord Canning

(3) Lord Mountbatten (4) Lord Attlee

3. RAW™ U Hee gt gie s

(1) A FAH AHE (2) SR dgarst
(3) ThWEH (4) st fSmm
The first Muslim President of Indian National Congress
(1) Abul Kalam Azad (2) Badruddin Tayabjee
(3) Hakim Khan (4) Barrister Jinnah
4. T 1857 =1 3319 FE I A TTegL S &I
(1) «ie sagE (2) S wEA
(3) @S Him @) «7E R
was the Governor General when the revolt of 1857 broke out.
(1) Lord Dalhousie (2) Lord Curzon
(3) Lord Canning (4) Lord Rippon
5. SRR THSIA fedt @fverm fordier Tsram et s,
(1) orsfigest ©2) T
(3) dTaren (4) THERY
In Barakpur regiment Hindi sepoy fired at his British Major.
(1) Ajimulla (2) Mangal Pande
(3) Tatya Tope (4) Nanasaheb

Hood] HIFTATS! WHTT/SPACE FOR ROUGH WORK
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6. €11933 W= “Thew @ A9 Sh e Fiv gE e ?

(1) . STemaRs AHeH (2) wIeTenT Wieft

(3) SF. TwEAE Sifea @) f3. a1 s

Who started the English weekly “Harijan” in 1933 ?

(1) Dr. Babasaheb Ambedkar (2) Mahatma Gandhi

(3) Dr. Ram Manohar Lohiya (4) V.D.Savarkar
7. T ‘T TS AT AT A AT,

(1) forsremestt faoegumeRt (2) T . w4

(3) =T, T (4) HETH Fad

1s a author of ‘Shetkaryacha Asud’.
(1) Vishnushastri Chiplunkar (2) R.D.Karve
(3) Justice Ranade (4) Mahatma Phule

8. 19T 1969 TSt 14 G Sehrel T THT vt e ?

(1) & . FommEEE ) e meft

(3) H. . I (4) IIEFE TR0

Who did the Nationalization of 14 major banks on 19t July 1969 ?
(1) T.T.Krishnammachari (2) Indira Gandhi

(3) S.K.Patil (4) Yashwantrao Chavan

9. anyfie WRa RIeThR S FeurTa ?

(1) Tt meft (2) sfexy meht

(3) dfed Jee (4) AT SET IE

Who is called as the architect of Modern India ?

(1) Rajiv Gandhi (2) Indira Gandhi

(3) Pandit Nehru (4) Lal Bahadur Shastri

10. =RioT=AT Q@RI ST g T St ?

(1) Sf. AEARH TIgar (2) =M. gERd Mg TS

(3) T &1 <@ (4) Bf. TS

Who took initiative to establish “Prarthana Samaj” ?

(1) Dr. Atmaram Pandurang (2) Justice Mahadeo Govind Ranade
(3) Gopal Hari Deshmukh (4) Dr. Bhandarkar

HeedT HIATETS! ARTT/SPACE FOR ROUGH WORK



A ) 5 PSP

11 -‘9rdis g 9 91 TU™ @S iV B ¢
(1) <. SreaRd eEHt
() W sAfera gt
(3) wefd foger waht ¥
(4) T TG
Who was the author of a book entitled ‘Bhartiya Aasprushanche Prashna’ ?
(1) Dr.Babasaheb Ambedkar
(2) Mahatma Jyotirao Phule

(3) Maharshi Vitthal Ramaji Shinde
(4) Dadoba Pandurang

12. . 1 EEA deaseal W@ afger e g,
1) TR Teg (2) gfiter 3w
(3) 3 srEe (4) 39T Hga
was a prominent woman leader of Homerule Movement.
(1) Sarojini Naidu (2) Sushila Naiyar
(3) Ani Besant (4) Usha Mehata
13. 9wy I AT g T GHITER 19 A fHeass o,
(1) et faoeht - (2) FATHIER (3) A= (4) iR
The international airport named Netaji Subhashchandra Bose is located at
in India.

(1) New Delhi (2) Ahmedabad (3) Bhuvaneshwar (4) Kolkata

14, WA T HYROT 5618 FeV[ U 9 YRTTER WTAedshl Siv §&7 3fese e ?

(1) wateoT=a fRrdard) aftfedisnia aqer feta

(2) Tt qrRile &, TR, S A gREtdie e eRom Sfdsy e

(3) sfariardt s giaun gufan

(4) o ges e e TR e Toae HuTETE IEe S

According to National Forest Policy of Indian Forest Conservation which of the

following is not the main objective ?

(1) To maintain ecological balance for the stability of environment

(2) To control soil erosion in the areas of rivers catchment areas, lakes and water
reservoirs

(3) To provide houses for the tribal people

(4) To take steps with the co-operation of woman and mass movement on a large
scale

&ooqT RTHTHTS! AW/ SPACE FOR ROUGH WORK
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15. die fSewndia 2 ToehTor A= 1w TV SAieEd Wi,
(1) ITE<ITg 2) Mg (3) = (4) TmE
place in Beed district is known as Peacock Sanctuary.
(1) Ambejogai (2) Georai (3) Chausala (4) Nayagaon
16. TG Aefid TRY e SR v fNeeaa Sgesan ?
(1) TR @) 3 (3) =l (4) wIeRTX
In which district hot water springs located at Ganeshpuri are found ?
(1) Ratnagiri (2) Thane (3) Nashik (4) Kolhapur
17. AT 9 HieTqL NeadT=ar GEEas Sivdt 74 Jrd 7
(1) d=rm (2) st
(3) amEm (4) =IHT
Which river flowing on the boundary of Sangli and Kolhapur districts ?
(1) Panchganga (2) Bhogawati
(3) Warna (4) Ghatprabha
18. TR esardia U s f&wmr v onR 7
(1) AT (2) dNUHTE
(3) =TS (4) e
Which is the hill station in Nandurbar districts ?
(1) Narnala (2) Toranmal
(38) Chandurgad (4) Gavilgad
19. TTHENIT HTHETSI HIV TATH 8IS 9156 7

(1) e uftes dew e amfen

(2) & T qaIRE

(3) 1 AT WA AT A9 TS €4

(4) it gfafeh

Who can participate in the proceedings of Gram Sabha ?

(1) The citizens who are the members of Zilla Parishad

(2) Oanly office bearers of Gram Panchayat

(3) All those whose name appears in the voters list of that village

(4) Woman representative

THosdT HHTATS! ARTT/SPACE FOR ROUGH WORK
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20, T AT e o d o T TR,
(1) <G HTSaRITE TS (2) IE FHITHRT T
(3) 2T gr=ETE TS (4) 2 IWSFHT G

The aim of Directive Principle of State Policy is to establish
(1) Capitalist State in the Country (2) Welfare State in the Country
(3) Communist State in the Country (4) Anarchist State in the Country

21. R ST v geediy qariat fated srer T e ¢
(1) 1984 = vFwIaAal Glioam o=l (2) 1985 <t STa=at Glau™ geel

(3) 1986 =i Fu~ralt wiaa™ geedl (4) 1986 =it Tra=d Higa gee
According to which Indian Constitutional amendment is Anti defection law
established ?

(1) Fifty first Amendment, 1984 (2) Fifty second Amendment, 1985

(3) Fifty third Amendment, 1986 (4) Fifty fourth Amendment, 1986

22, 9N GRAUHT SHIvdT ST AR TSATH ST dw TV Sfvd et ?

(1) HE &Fh (2) HE s

(3) SEvUTIeHT @) TSR wmieTie T

Which part of the Indian Constitution declares the Ideal Principles of Welfare State ?
(1) Fundamental Rights (2) Fundamental Duties

(3) Preamble (4) Directive Principles of State Policy

23.  WRATSAT Ugwdte e dewfdie arq Hivmke daan st ?

(1) &g @) frasuE

(3) Harsd A (4) WG TEIETE!

Before whom the election dispute regarding the President of India is put ?

(1) Parliament (2) Election Commission

(3) Supreme Court (4) Attorney-General of India
24. T HATGE A HETFRIATITRA YT TS JTT0Te] ?

(1) 73 &t "eAIgEt (2) 71 St gEAIgeEdt

(3) 72 it geATgeEdt (4) 74 o geAgEE

Which amendment did bring out reforms in Municipal Corporation ?

(1) 73 amendment (2) 718t amendment

(3) 72" amendment (4) 74" amendment

HoTIT HIHTATS! JATT/SPACE FOR ROUGH WORK
P.T.O.
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25. el FvRT Tl wefiw e deRh frfe A 7
(1) IHaUE 15k afere
@) 3. 9. s wfd
(3) . #fi. urdis afirdt
(4) . 7. diffrar gfird)
Which of the following Committee is not related to the Local Self Government ?
(1) Vasantrao Naik Committee
(2) V.M. Dandekar Committee
(3) P.B. Patil Committee
(49) L. N. Bongirwar Committee

26. T 2010 9=, UHT gU IcTEh GO Y ISt ek faewh 39 (vending machine) TmHior
T FEEa. ° feRTT @refia Sugad i
(1) <mfY, 1. seneTR
(2) IROFK, shicerq et
(3) s, 1. got
(4) e, . darg

In 2010, a milk-vending machine was installed by a milk co-operative society in
rural Maharashtra. Name the place out of the following.

(1) Loni, Ahmednagar Dist.

(2) Warnanagar, Kolhapur Dist.
(3) Baramati, Dist. Pune

(4) Akluj, Dist. Solapur

27. T geR afden sTEaT geRye Wielid HIad Jaa e,

(1) sest 2006 (2) fedsw 2008

(3) I 2005 (4) ¥ 2006

The Justice Sachar Committee report was tabled in Parliament in
(1) November 2006 (2) December 2008

(3) June 2005 (4) May 2006

28, Toahln YR SuUsaTE Gifiet SaTd 7. I 9 forer.

1) 1975 (2) 1976 3) 1977 (4) 1980
Sikkim was incorporated in the Indian Federation. Choose the right year.
(1) 1975 (2) 1976 3) 1977 (4) 1980

HooHT HTHTATS! ATTT/SPACE FOR ROUGH WORK
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29, AT T RasTEETd @l Hvn Fratas vew e ¢
(1) SEFaT
(2) ARG AT TG
(3) ArRawT, TSIET for TS T
(4) g AT wew TSATAT T ShEwntad yewme Halfud ge=
Which of the following electoral college is formed to elect the President of India ?
(1) Loksabha
(2) Loksabha and Rajyasabha

(3) Loksabha, Rajyasabha and State legislative assemblies

(4) Elected members of the Parliament, State legislative assemblies and Union
territories assemblies

30. AT Tue geear=a fasueifawefi= ar Hirwe g smar ?

(1) €93 ) Fagu smam

Q) I IS (4) VAT HEFATIETRET

Before whom the election dispute regarding members of Parliament is put ?
(1) Parliament (@) Election Commission

(3) High Court (4) Attorney-General of India

31. U i WhT farfas—gATa el TRum=n Sia AT 810 JATSST Ties Wd e IHT HAATHT
IFAHF I B A=A T SIS g, = i Tt

(1) Fmed @) T
(3) T e (4) I Ed

A person standing on a horizontal rotating platform with his arms stretched
outward suddenly brings his hands near his body. His angular velocity

(1) Increases (2) Decreases
(3) Remain constant (4) Becomes zero
32. WHI 60 W recicdn e fisam=n a@is 6 a9 arat grdl. = faega sremsi @ et s
T EIsel.
(1) 10 (2) 360
(3) 0.36 4) 36
An electric bulb of 60 W is used for 6 hours per day. The energy consumed by the
bulb in one day is units.
(1) 10 (2) 360
3) 0.36 4) 36

&HeeqT HIHTATS! WIT/SPACE FOR ROUGH WORK
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33. H,SO, (@cwgite 31)=aT Sredia ¥cd TR Feel
(1) FEMET = Y91 (2) TEHRET = 2 x WAl
(3) TEHIAT = SATRATICEHAT (4) JEWTRIET = ATATar

The relation between normality and molarity for H,SO, (Sulfuric Acid) is

(1) Normality = Molarity (2) Normality = 2 x Molarity
(3) Normality = Basicity (4) Normality = Acidity

34. gy fawea far diemma S qFR Bl
(1) TEEts SiFEys

(2) HANTEFRREFTT TS Setedl TS
(3) TETHRY FHroredT YIS
(4) TEIHFTAT St BT SIS

In fission and fusion reactions, energy is released due to

(1) Chemical reaction
(2) Conversion of kinetic energy of the reactants
(3) Conversion of gravitational energy

(4) Conversion of mass into energy

35. 71 ettt fafite ssmuTERar ot e,
1) = (2) 9w (3) ot (4) @S
The specific heat of is maximum.
(1) Silver (2) Mercury (3) Water (4) Iron
36. 3T SteA T fegur= a1l gemed (spectrum) Halferes ai oAist Srgeter T 7
AR,
(1) & @) fer @) fewar (4) foga
In the visible spectrum, the longest wavelength is possessed by
(1) Red colour (2) Blue colour (3) Greencolour (4) Yellow colour
37. I g UwH® HrSoaTaTd! arTard.
(1) gechiore=ar faeer 3 (2) gaAten-amdia o
(3) ~galteTa= faeearan & (4) —gFAreAT-a=
Fermi is a unit used to measure
(1) Time (2) Distance
(3) Rate of nuclear disintegration (4) Velocity

HTTdT RIHTETS! AT/ SPACE FOR ROUGH WORK



38. . 'T€ ulat’ & d1 vt ¥ et ?
(1) S &¢ ) €. =@
Who coined the term ‘Horse power’ ?
(1) James Watt (2) C.V.Raman
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(3) e FERIE (4) AEF A

(3) Albert Einstein (4) Isaac Newton

e & e
(1) SATBTAS Tear=ar=t 3l

(3) UE g AT Tt

Parsec is a unit used to measure
(1) Distances of heavenly bodies
(8) Velocity of heavenly bodies

39.

OISOTR T T9Lard.

(2) TE d AT A3

(4) TE T AT TUATE &%

(2) Revolving time of heavenly bodies
(4) Area of their surfaces

40.
(1) 9ed
(3) weaq AT

IS =1 Foriy ragraTaaT=a faarargan yaTai= aEqaH e o arefdeard

(2) wHI g
(4) YIS Fohd

According to Einstein’s special theory of relativity, mass of a body in motion

(1) Increases
(3) Does not change

with the increase in its velocity.

(2) Decreases
(4) Tends to zero

41. ffagR
(1) doamed faaezard

(3) TEHe fomam &% 7 TEROM
Inert gases are
(1) Miscible with water

(3) Chemically unreactive

(2) TR wFaE
(4) vl et sra fmamfier

(2) Not stable
(4) Chemically very active

42.

TS, (k) ©
1) Ef:‘IGIEYETH';%E“{{(Carbohydrates)
(3) feastargsy (Nucleosides)

Enzymes are made up of

T ST,

) far QﬁEH(Amino acids)
(4) ® FfG=Y (Fatty acids)

(1) Carbohydrates
(3) Nucleosides

(2) Amino acids
(4) Fatty acids

43. g fesar=an sma
(1) T (Air)

(3) RIS (Nitrogen)

The gas inside an electric bulb is

HEIRE TGS

(2) oAifeasH (Oxygen)
(4) wE SRS (Carbon dioxide)

(1) Air
(3) Nitrogen

(2) Oxygen
(4) Carbon dioxide

HTTAT HIHTETS! ATTT/SPACE FOR ROUGH WORK

P.T.O.
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44.

12

aftea ST HETgETd WefieTish! ShivreT TRMTET aTo TETa e 376 FEUM hell 7
(1) e AATFEES (Carbon monoxide)

(2) TESNH TRATES (Hydrogen cyanide)

(3) WS 78 (Mustard gas)

(4) & TE (Water gas)

The chemical used as a chemical weapon in the first world war is

(1) Carbon monoxide
(2) Hydrogen cyanide
(3) Mustard gas

(4) Water gas

45, FTdieReaET (JATeRIET FHoTET) HR -1 FEleuda aTgal.
(1) 1079 et (2) 1079 @t
(3) 10719 @, (4) 1019 ¥,
Size of nanoparticles is in the range of
(1) 109m (2 10%cm
(3) 1071%cm (4) 101%cm
46. 7w e 3 gR A1 I IR,
(1) deg @) ofegmfem  (3) wagd (@) (4) <A
‘Quick Silver’ is the another name given to
(1) Steel (2) Aluminium (3) Mercury (4) Platinum
47. RV StaTEETa 91 feRasma v sTEard ?
(1) Shemew 31 (2) StaeE s,
(3) Shea i (4) TSR
The vitamin that contains a metal ion is
(1) Vitamin A (2) Vitamin B,
(3) Vitamin B (4) Riboflavin
48. ¥ oo A TS Tehd.
(1) FaTan (2) AW
(3) T ARG (4) ITFITOT
The deficiency of vitamin A causes
(1) Hair to fall (2) Dysentery
(3) Night blindness (4) Weakness

HTodT HIATETE! ARM/SPACE FOR ROUGH WORK



A - 13 . PSP
49. TIAITIH! BT TR FB TR 7

(1) =R (2) 9

(3) A=E (4) TS
Which one of the following is true fruit ?

(1) Apple (2) Cashewnut
(3) Pineapple (4) Coconut

50. Y STIA MATAS Sk FeV T e hivTeT el e@d S ?

(1) WRHSH (2) ONfaE guAr
(3) . wa. "l (4) =iy TE
Which one of the following scientist is known as the father of modern genetics ?
(1) Gregor Mendel (2) Hargobind Khorana
(3) T.H.Morgan (4) Charles Darwin
51. AU SATATH AT TGS AFIH 8. B! fomtor 2.
(1) woHgiw e @) e it
(3) TESEINE e (4) dAfacs ftag
When we exercise, our muscles contract and produce an acid known as
(1) Sulphuric acid (2) Nitric acid
(3) Hydrochloric acid (4) Lactic acid
52. Ty an TS aTaTe fawT] aTee TR v SR AR 7
(1) =gaad (Culex) (2) IFTfRefiE (Anopheles)
(3) f2w It (Aedes egypti) (4) ahaNF g4
The primary carriers of the virus that causes the deadly Chikungunya fever is
(1) Culex (2) Anopheles
(3) Aedes egypti (4) All of these

53. el FAEIAI AT AT Hoord UehaTa Fod JaTd. A1 SEGd AT 1 FEUIaTd ¢

(1) HHIRIbH (Monocarpic) (2) "HHE (Monogamous)
(3) WA (Monogenic) (4) HAHTHS (Monomorphic)
Some plants flower only once in their lifetime. They are called

(1) Monocarpic (2) Monogamous

(3) Monogenic (49) Monomorphic

HETIT HIWTETS! AR/ SPACE FOR ROUGH WORK
P.T.O.
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54. T WG ATAEIE TR 3 Tid TR, gran o s,

(1) o= o [ (2) @ HIE
(3) fuumy wE (4) WSO A
Homosapien is the Latin name for a human which means
(1) Thinking man (2) Eating man
(3) Drinking man (4) Playing man
55. 1935%%%%%%@@%%%%@ ~geft
(1) w0 =0 3 vem w (2) 3Mowe IS 9 = Teit wear
(3) ¥ETHIE 9 AT It B (4) Hehw Sifaee 3 = gl a=fE ol
The husband and wife who were jointly awarded the Nobel Prize for chemistry in
1935 were
(1) Pierre Curie and Madam Curie (2) Albert Einstein and his wife Elsa
(3) Rutherford and his wife Mary (4) Frederic Johot and Irene Curie

56. WA 28 Hgardt &1 feaq U fagm T revm @ Foam Adn. @1 feag @ adfl. T
R feaq 2.

(1) ST

(2) AT gt

(3) G YhITHTET/FRifeaa=r

(4) goa faefren

In India, 28th February is celebrated as the National Science Day to
commemorate

(1) Birth Anniversary of C. V. Raman

(2) Award of Bharat Ratna to C. V. Raman

(3) Publication of C. V. Raman’s Research findings

(4) Death Anniversary of C. V. Raman

57. ‘OTEC’ @1 SIRIIE Foran a1 & Hefl Hiddt Foaaseii=n TR §ear Tewo) HeR
R, I OTEC =7 314 o TR,

(1) Ocean Thermo Electric Creation

(2) Ocean Tidal Electric Conversion

(3) Ocean Thermal Energy Conversion

(4) Ocean Turbo Electric Conversion

‘OTEC’ is one of the useful plans of the Indian Government to meet the power
requirement from non-conventional energy sources. OTEC stands for

(1) Ocean Thermo Electric Creation

(2) Ocean Tidal Electric Conversion

(3) Ocean Thermal Energy Conversion

(4) Ocean Turbo Electric Conversion

ool HTHTHIE! ATT/SPACE FOR ROUGH WORK
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58. -1963 TG gIH 2 9Tt Yo arfEa.

1) wive (2) &

(3) F%@ (4) Hg,

The year 1963 saw the first successful

(1) Kidney transplant (2) Heart transplant

(3) Lung transplant (4) Brain transplant
59. WHaTSA! RIS ANfEd T hivIeT STRLHHA 3% .

(1) frea 2 120 fi=@

(3) 180 fe=m (4) <t =ufa forad =@ wfa

The life span of human red corpuscles is

(1) Uncertain (2) 120 days

(3) 180 days (4) Aslong as the individual survives
60. TR gare st a3 wvTges sl ?

(1) Fnfear (Xanthophyll) (2) UEEIRIET (Riboflavin)

(3) TS (Ribulose) (4) FUIF (Carotin)

The colour of cow’s milk is slightly yellowish due to presence of

(1) Xanthophyll (2) Riboflavin

(3) Ribulose (4) Carotin
61. WEATERAT HTBM T oI RVl Sadt g Jal ?

(1) ared 2) ed (3) for s (4) IR ATE

What happens to value of money during inflation ?

(1) Rises (2) Falls (3) Remains stable (4) None of these
62. WrcfleTieh! I FHIU fohwa ae e ?

(1) S a8

©2) Yo7 [EsHde 916

(3) I WISTIet d1@

(4) w1 FN I

Which of the following is not the cause of price rise ?

(1) Increase in incomes

(2) Increase in money supply
(3) Increase in supply of goods
(4) Low agricultural output

HoodT HINETST AT /SPACE FOR ROUGH WORK
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63. Wrelicidehl, YR 3T FieH=1 Fear=a] Ueeh FIvd] 18 7

(1) fEd&s (2) TSI A

(3) T (4) =T

Which of the following is an important component of economic planning in India ?
(1) Reserve Bank of India (2) Planning Commission

(3) Loksabha (49 NABARD

64. TR TeaTfies Fiwmeiaia, STe Iumiat et s T g g Hiat St T {3 e ¢
(1) =l Taare gemT O REEIREENNE IR
(3) ATa TuET T (4) <gTE TEaTNE TS

Under which Five Year Plan, lower emphasis on heavy industries and more
emphasis on infrastructure was given ?

(1) Fourth Five Year Plan (2) Sixth Five Year Plan

(3) Eighth Five Year Plan (4) Tenth Five Year Plan

65. WIAITehl ShivTcd] FTel=T GHET USTSTEAT=I] SAVTHE el e 7

37) yiasgfrate feh

) FHEEENEGT A F

F) @ Mt

(1) 399 (2) §9F (3) Ad=H (4) =0a1 wg

Which of the following include liabilities of the state governments ?

a) Provident fund

b) Loans from the central government

¢) Reserve funds
(1) aandb (2) bandc (3) aandc (4) all the above

66. TIUEhT ST T THTAST T TRhT=AT ASTIIFHRI ardl ?
) TIavieA1 eedt IN AEEH
&) AT FRTSIFhIG STHM o GG e
F) IR T FIEIHHE FIAH
(1) s13d (2) 9TF (3) ATF (4) =0 &
Which of the following items are included in Union Budget of India ?
a) The actuals for the year preceding the current year
b) The budget estimates and the revised estimates for the current year

c¢) The budget estimates for the coming year
(1) aandb (2) bandc (8) aandc (4) All of these

FEoAT hIHTATS AT /SPACE FOR ROUGH WORK
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67, = S, Tl Fron w el v A ¢

(1) et e (2) & 20

(3) fovawd wevE &M daTu (4) Hrrae A

Which of the following is not the primary function of Commercial Banks ?
(1) Accept the deposits (2) Give loans

(3) Act as a ‘Trustee’ (4) None of these

68. WTATIIER! FHITQ &, S QUTEAT ILIMR T, YTer= &1 9T 78] 7

1) FN&s (2) I3 T Weaw FEM

(3) arfors &= @) TEHwI &

Which of the following sector is not a part of priority sector for the purpose of bank
lending ?

(1) Agriculture sector (2) Large and medium industries

(3) Education sector (4) Housing sector

69. AWLIT SR Geuld, Wieliadeh! v TEaren TAEY 369 Hq Huard ST ¢
(1) =a9R Gafd Sifges e gs
(2) IR Heferd qav[E ST
(3) HanEy =R
(4) T wd
With reference to international trade, which of the following issues were included
in Urugway Round ?
(1) Trade-related intellectual property rights
(2) Trade-related investment measures
(3) General agreement on trade in services
(4) All the above

70. WrefiAush! SivrE YR Fafdmer a9 1990-91 @ 2006-07 wdd 19.5% T€7 10.3% wdfa

HE gored] guifaet et ?
1) @t (2) et oy
(3) v (@) wf=da

Which of the following item showed a decline in India’s exports during 1990-91 to
2006-07 from 19.5% to 10.3% ?

(1) Minerals (2) Manufactured goods
(3) Agricultural goods (4) Mineral oil

THoed] SHIATATE! AR/ SPACE FOR ROUGH WORK
P.T.O.
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71, Een foRm=n e g HEN TS [ETH HI0 ST g6 sheft 7R 7
(1) wiEer e dOoET
(2) T YUR FRIHH
(3) TTHIOr TSI AT
(4) TR AT
Which is the scheme started by Maharashtra state government for rehabilitation
of dowry victims ?
(1) Woman’s Welfare Scheme
(2) Community Development Programme
(3) Rural Development Programme
(4) Home Scheme

72. U R fomT Femarst Tsatdia 94 (BPL) ST INE I 18 ehET fohdl g ferin

A 20TR, gl TS Hivra ?
(1) st (2) HEWE
(3) HEITW (4) TS@

Which was the first state in India which gives the benefit of National Insurance
Scheme to BPL Card holders ?

(1) Haryana (2) Maharashtra
(3) Madhya Pradesh 4) Gujarat

73, § 2010 "L, <RT HIOAT TSI AT [AGUEHIT TAH AT Teahiaar ¢

(1) "EWsg () TSUd

(3) HEWSH @) T

Which state stood first in the Economic investment in the year 2010 ?
(1) Maharashtra (2) Guarat

(3) Madhya Pradesh (4) Tamilnadu

74. TR d% IATEATd O 9 g g urasiE FrEsen g aus aravgrEdl s e

I A 7
(1) wifse Aifg (2) TSR Aif
(3) TS =ag Hifg (4) WESIHE s Al

Which policy has Reserve Bank adopted for co-ordinating in control of increase in
production and normal price level ?

(1) Monetary Policy (2) Fiscal Policy

(3) Public Spending Policy (4) Public Debt Policy

FHTedT HTHTETS! FHT/SPACE FOR ROUGH WORK
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75. %] 9 AT AToAT TETOTOET G ATV ST 3TE0 FEUSt
(1) Thrt (2) 3T
(3) foediet (4) wEEId
When the ratio of quantum of money is greater than quantity of commodity and
service mean
(1) Inflation (2) Deflation
(3) Dis-inflation (4) Reflation
76. S HIS HTASETER BTG Jd) TR FHIora] L ATl Sl ?
(1) o (2) aTEd
(3) 7RI H (@) i@ Z=
Which tax is imposed on goods came to the city by canals ?
(1) Custom tax (2) Vehicle tax
(3) Octroi tax (4) Terminal toll
77.  3fETO7 RS T 09T Sfeh 3T FoaarS< ShITCT b Tt 14 [0 hivaTd 3T 7
(1) Reds ©@) T &%
(3) % dF (@) o A&t g dF
In which bank, old “Ganesh Bank of Kurundwad” in South Maharashtra was merged ?
(1) State Bank (2) Maharashtra Bank
(3) Federal Bank (49 1.D.B.1.Bank
78. TERTSC SIS Hicisd ITF hivedT il Afeana et ?
(1) 1949 (2) 1946
3) 1950 (4) 1956
In which year Bombay Money Lenders Act came in existence in Maharashtra ?
(1) 1949 (2) 1946
(3) 1950 (4) 1956
79. 3% (OPEC) I T&IEE 18 1R 7
1) fag=m @) FHofad
(3) FH (4) @R’

Where is the headquarter of OPEC (Organization of Petroleum Exporting
Countries — OPEC) situated ?

(1) Vienna (2) Algiers
3) Kuwait (4) Laurence

HTTIT HIATHIS! TRT/SPACE FOR ROUGH WORK

P.T.O.
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80. 1960 =X renfiwTT=a ysraTges fafda s a&ge e e R ?
(1) FAHEI=T a%] (2) M uruTiE o
() W (4) =
After 1960 which export commodity has gained importance due to the influence of
industrialization ?
(1) Skilled goods (2) Non traditional goods
(3) dJute (4) Coffee

81. WIficIehl SRIvET Teh 3T WiaTe el weoarn ‘difges 3w’ ame ?
(1) Rl EEd Fm
(2) FO=AT A TG
(3) TR iR I
(4) G IERIT TR YT foght
Which one of the following is the monetary measure to control inflation ?
(1) Reduce in Government expenditure
(2) Increase in tax rate
(3) Control of Government borrowing
(4) Sale of Government Securities in the open market

82. Torma Frdwies it umred wafora awt=it Amn WK wev faemua waeft sia @0 e =T

(1) e e (2) T srest e

(3) 3 fohma e (4) Trv=En féeTe

The price index that uses current year quantities as weights is called
(1) Laspeyer’s index (2) Fisher’sideal index

(3) Wholesale price index (4) Passche’s index

83. U unfivr TR g AT (NREGS) vt auia siferd siogm aret! ?

(1) 2004 (2) 2006 (3) 2008 (4) 2009

In which year the National Rural Employment Guarantee Scheme (NREGS) was
launched ?

(1) 2004 (2) 2006 3) 2008 (4) 2009

84. TS Fiora Sfomm mefisfiean geemtomeft Hefi e ?

(1) wa. 9. i, sl (2) el yfan

(3) qU (PURA) wfewm (4) A whaH
Which model of planning is related to Gandhian approach ?
(1) L.P.G.model (2) Nehruvian model
(3) PURA model (4) Dunkel model

HTSIT HIHTETST AR /SPACE FOR ROUGH WORK
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85. -WIHG ST FIUCH FAATT HHHGT Al Tl e ST FTefl 3172 ?
(1) =" 201 (1) (2) &H 105 (2)
8) HAF 118 (1) (4) &9 180 (1)
In which Article of Indian Constitution the Public Accounts Committee has
established by Parliament ?
(1) Article 201 (1) (2) Article 105 (2)
(3) Article 118 (1) (4) Article 180 (1)
86. M7 YEATe Aq gorem sefaon gL
(1) TR GE=AT 5.0% (2) TRW EEr=T 12.5%
(3) TR wE=T 7.8% (4) TRV @A 8.6%
The deficit financing of Eighth Five Year Plan was
(1) 5.0% of the total outlay (2) 12.5% of the total outlay
(3) 7.8% of the total outlay (4) 8.6% of the total outlay
87. Ry v st Rt foen foifia wisaera v wxemrE arer fod grar 7
(1) 2eFh Q) 7.5TFb (3) 10 TFF (4) 15 ZFh
What was the share of State Government in issued capital of Regional Rural Banks
at the time of establishment ?
(1) 2 percent (2) 7.5percent (3) 10 percent (4) 15 percent
88. TIelt 30T W &I FIOT=AT HEATEH hol [aS=ITd @I [eTdeh! ShIuTedT s(ehT= A1eT 2007-08
e Tt S e ?
(1) HE s (2) wiefre umior st
(3) =AATQ et (4) fasfide
Which of the following banks was highest share of institutional credit to agriculture
and allied sector for the year 2007-08 ?
(1) Co-operative Banks (2) Regional Rural Banks
(3) Commercial Banks (4) Foreign Banks
89. 2008-09 Wead WRATEA TRy Fafdta shivreat TsaTen a1et 9atd s gral 7

(1) WENs (2) IT

(3) o (4) FleH |

Which state had the highest share of India’s total exports for the year 2008-09 ?
(1) Maharashtra (2) Uttar Pradesh

(3) Gujarat (4) Karnataka

Hoeq] HUTATE! STRTT/SPACE FOR ROUGH WORK
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90. faasft =R 9o 2009- 1439119%3&%@%%%3%@:% aTg ?
(1) 11wk (2) 12 &
(3) 15 IF*k (4) 7z
According to Foreign Trade Policy 2009-14, what is the objective of achieving an
annual export growth ?
(1) 11 percent (2) 12 percent
(3) 15 percent (4) 7 per cent

91. HER Tume Wimifers & fordi et 318 7 (819700 B Te)

(1) 307580 (2) 370583
(3) 375583 (4) 407755
How much is the geographical area of Maharashtra state ? (Area in ’00 ha)
(1) 307580 (2) 370583
(3) 375583 (4) 407755

92. FfY faen fovgs sfiFan 4o wfhdos 3o o ?

(1) AT=ITe A% (2) 3IITE ST T AU
(3) Iaruy e = (4) =TS A =0

Which is the Agronomic erosion preventive measure ?

(1) Mulching (2) Contour bunding
(3) Trenching (4) Gully plugging

93. TRIUR TSITE TS 31 QRatt At whivre frerrer seare amsfeamamandt vsifaen smay ?
1) e o 2 34
(3) hgH (4) w3t
In Maharashtra state “National Food Security Mission” 1s implemented to increase
the production of which crops ?

(1) Food grain crops (2) Sugarcane
(3) Cotton (4) Frut crops
94, AW et wedieew o TegTeAT TG & TRY g AT AR TH AR,
(1) 90 (2) 80 3) 70 4 75
In India, area under Triticum aestivum wheat is about % of the total

wheat area.
(1) 90 ) 80 3 70 4) 75

HEIT HTHTHTS! AT /SPACE FOR ROUGH WORK
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95. VT GATRS) TF B SIS ST WEIE FE ? ‘

1) mifEm gethe ) I

(3) WHfcyrem smifaam aree (4) mIHaE TS
Which fertilizer contains nitrogen in amide form ?

(1) Ammonium sulphate (2) Urea

(3) Calcium ammonium nitrate (4) Ammonium chloride

96. T IARATHIS! HIV ANTEE GHHE ST IS 2uaT=] FHdr 38 ?

(1) At wE A anEs (2) =1 gEHSITH! ATag
(3) VY= IGAT hEd ANTIE (4) FER ATES
Which planting technique has a greater potential for potato production ?
(1) Planting by “‘TPS’ method (2) Planting by potato tuber cuttings
(3) Planting by seedling (4) Use of plant cuttings for planting

97. WIS Hald Sired STATH= ShI0TeaT HIdER 2 ?

(1) @@ (2) A

(3) 39T STATG=A (4) T

What is the major source of irrigation in Maharashtra ?
(1) Tanks (2) Tube wells
(3) Liftirrigation (4) Wells

98. AT §eih AT UFETEE IO TT AU o) SIS S STeerea S qToft Jararat
T IGA ST 7
(1) gsSTEE e qroft 3o (2) wgT 9Eq
(3) gum fa= (4) wm1 9Sd

Which method of irrigation is used on low moisture retentive soils requiring
frequent, light and uniform application ?

(1) Surface (2) Border Strip
(3) Sprinkler (4) Check basin

99. fEemT=n wivre wgdta s sl ol BT ST |0

(1) WeR 9ga (2) Fi-aE 9gd

(3) e Ugd 4) foo= vga

Which irrigation system needs minimum land preparation ?
(1) Flood irrigation (2) Furrow irrigation
(3) Basin method of irrigation (4) Drip irrigation

HTodT HIHTHTS! AT /SPACE FOR ROUGH WORK
P.T.O.
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100. ‘gegadi §g @ Seraumor Tyne g yfdier geen’ &3 e 7
(1) 2FEE (2) I (3) 'USA (4) nfam
Where 1s the ‘Central Soil and Water Conservation Research and Training
Institute’ is situated ?
(1) Hyderabad (2) Varanashi (3) Dehradun (4) Orissa

101. WET=Id S| ST 16 FOATETE! FI0 FAFA Tl T ?

(1) -Eat FUR Fiy0 (2) TS SUR

(3) Tidacit (4) ot gd

In Maharashtra, which programmes are implemented to increase irrigated area ?
(1) Check dams on rivers (2) Vanrai Bandharas

(3) Farm Ponds (4) All above

102. ST T Wow Y SAEEA qTe SV TTvfl TR SIS TSRO Set e S, e s

TEOTATT ¢

(1) TS 1ol Tt O & (2) U &5

(3) Tl werTa fSehTott AT o &= (4) FhadERl (1, 2, 3)

An area of land whose runoff drains to a common point, is known as

(1) Catchment area (2) Watershed

(3) Drainage area (4) All the three above (1, 2, 3)

103. ‘‘TUig grIwIesT GuneE weer’ SIS o7 7

(1) et foeeht » (2) AR

(3) =7 4 T
Where 1s the “National Dairy Research Institute” ?

(1) New Delhi (2) Bangalore
(3) Chennai (4) Pune

104, <R ZTSeR Gald INTAT I T ?

(1) IS EE TR F (2) T=grear frerarefia 83 sea

(3) =T=TE gETE! AnES H (4) =TT fYerTe gre ol

Which is the the best remedy for solving the shortfall of fodder ?

(1) ‘Cylage’ making (2) Increase the acerage under fodder crops
(3) Planting fodder trees (4) Dense sowing of fodder crops

FHTSIT HINTATS! AN/ SPACE FOR ROUGH WORK
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105, WTEedeh! Fivrd qut 311 Tev[T Hargd Sd 7

O @ 2) =" 3) 3a 4) =&
Which of the following is considered a complete food ?
(1) Ghee (2) Meat (3) Milk (4) Curd .
106. =E 4T ITETST=AT Ha HIvTd ITET FEUTSl ST ISTET=I O farsiy s ) SAT=i SaaanT SA1i
Irdier aeadie gay arwal
(1) IEmfEn (2) ST (FATH)
(3) SiluTeT IR (4) PN

Which science as a special part of the general field of botany connected with
orchards and garden plants, as defined by Chandler ?

(1) Horticulture (2) Pomology
(3) Olericulture (4) Agriculture
107. STSATET SrogT &t I YaeATsggranal uTaet S, deal TR AR,
(1) Sreoft & (2) AT =Tz TIA
(3) uaIfcie U-forg saaeuT (4) To==
When paclobutrazol is applied to mango every year, ___1s necessary.
(1) Pruning (2) Application of additional nutrients
3) IPM (4) Irrigation

108, =TeT o=t gy 31T ekl Hivrd! S 399 o1 7
(V) ‘sreft’ wrogrEn =T = gl
(2) st faewur s
(3) WHae SHH
(@) S FEER YT ST STt
Which soil is suitable for production of quality Alphanso mango ?
(1) Lateritic well drained so1l
(2) Heavy clay soil
(3) Saline so1l
(4) Soil with high lime content

109. SALROZAR FATET Wi gavean fordt ewh &% s ?

(1) 20 ¢ (2) 30 <Fh (3) 33 cFh (4) 66 TaF
According to forest policy how much of the geographical area should come under
forest ?

(1) 20 per cent (2) 30 per cent (3) 33 percent (4) 66 per cent
HESAT RINTATS ATT/SPACE FOR ROUGH WORK
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110. 3T WeImelicl 3T ST Shivredt et TmTae <o Wi G hivarans! s 7
1) g (2) e (3) fom (4) A
Which trees are planted in usar lands of U.P. for manufacturing Tasar silk ?
(1) Mulberry (2) Babul (3) Neem (4) Arjun
111, HeRre TsITd Sraret il 85 o 7 (85 00 Eeed)
(1) 52130 (2) 42110 (3) 60520 (4) 62410
In Maharashtra state how much area is under forest ? (Area 1n ’00 ha)
(1) 52130 (2) 42110 (3) 60520 (4) 62410
112. ToATd Hiesal=at Yo avefianat Ao sreradt e,
(1) 4 - 6 ufe (2) 6 - 8ufER
(3) 8 - 10wl (4) 2 - 4wf
In ponds, growth period of prawns is
(1) 4—-6 months (2) 6 —8 months
(3) 8—10 months (4) 2—-4months
113. Grefierash! Srordt arem= wesh S 3 ¢
(1) e (2) g 3) ¥ (4) foeat =
Which of the following is a foreign species of fish ?
(1) Cattla (2) Rohu (3) Mrigal (4) Silver carp
114. weRedEnd) TehT forex aroaram s e fhdt e ?
(1) 4 - 5 fufes - (2) 5~ 10 fufenim
(3) 10 - 15 fuferin (4) 15 - 20 ffenim
What should be the proportion of oxygen per litre of water for fishery ?
(1) 4-5mg (2) 5-10mg
3) 10-~15mg (4) 15-20mg
115. vt st 6 Afe @ 18 Al 1 HrBTaierd heed! A 1
(1) < gedrt #st (2) e gedie el
(3) 31eq gt (4) Y FHIUTAE AT
Which loans are paid back within a period of six months to eighteen months ?
(1) Long term loans (2) Medium term loans
(3) Short term loans (4) None of these

HTTIT HIATATS! FATT/SPACE FOR ROUGH WORK
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116. - HioreaT Ui fyehTa ST@ts THToT S 3778 7

(1) T @) wgFH
(3) Hr=Avft (4) sl
In which cereal the sugar content is higher ?
(1) Baby-corn (2) Sweet-corn
(3) Finger millet (4) Sorghum
117. WERSIE AT (37-39) e a9 2009-10 7= 3. B,
(1) 900 (2) 950 (3) 1030 (4) 1000
In Maharashtra during 2009-10, the minimum support price of rice (Grade-A) was
Rs.
(1) 900 (2) 950 (3) 1030 (4) 1000

118. IV YT SSTTRIES A0 AT shwfl IeaTe §THaT SFHUT=a a8 aciel! STaard 7
(1) 37eaeq TSI (2) G AU
(3) ATgY SR (4) TT HIT TR
In which type of unemployment peoples are engaged in occupations, where their
marginal productivity is very low ?
(1) Under employment (2) Disguised unemployment
(3) Involuntary unemployment (4) Visible under employment

119. Tg gmlor USTTR FisET 97 Fiei shg, IeATs ferdt qeq 3 ?
(1) 100 25 (2) 50 Zah (8) 25 Fh (4) 75 <Fh
How much i1s the Central assistance for the “National Rural Employment
Programme” ?
(1) 100 per cent (2) 50 per cent (3) 25 per cent (4) 75 per cent

120. §1.1951 ued ford) ook AipaEaT Idfar s1aesq gt ?

(1) 63.2 (2) 76.5 (3) 69.9 4) 60

What was the percentage of working population dependent on agriculture during
19517

(1) 63.2 (2) 76.5 (3) 69.9 4) 60

121, SRS 9TeE S SIT8 @S Siaw (Symbol) W #ra.

(1) fer 2 = 3) =i (4) 9El
The fifth currency in the world to get its own symbol is
(1) Rial (2) Leu (3) Rupee ~ (4) Peso

woeq] HIWTETE! WM /SPACE FOR ROUGH WORK
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122. YRd Y FUleA TG T ket
(1) et sEorté
(2) ey gt
(3) . uSEUE gy
(4) THIET 9 TR
‘Bharat Krushak Samay was founded by
(1) Chaudhari Charansingh
(2) Pandharinath Patil
(3) Dr.Panjabrao Deshmukh
(4) Ramsingh Bhonde Sarkar

123. WHE! F9gd ARV FEEl 1994 T8 [ Foed ez St v
T AR,
(1) 3= T=Tdid FRIRERTT g 3FaFar g9 FogTe
(2) TS TFIATS T FLOGTEL
(3) Tacsf Furfermn tea 3 HvamEt
(4) SIS AAATRHAT FIAF T FHIT
The recent amendment to the transplantation of Human Organs Donation Act
1994 puts a ban on
(1) Donation of organs to citizens from other states
(2) Donation of organs to grandchildren
(3) Donation of organs to foreign nationals

(4) Donation of organs to close relatives

124, ¥ERI, FEE & TR REEIAT FIR G0 BRI 3t 7

(1) - & (2) IfEUErR g
(3) TE WM (4) AT R
Which dam will be beneficial to Bhandara, Chandrapur and Nagpur districts ?
(1) Narmada Dam (2) Indira Sagar Dam
(3) EraiDam (4) None of the above
125. wHaTdiel afeem AARS Fhed A9 fopfid Foamd 39 IR,
(1) hIcTT (2) 1 fegh (3) == (4) g=E
The first Mono Rail Project in India is being developed at
(1) Kolkatta (2) New Delh1 (3) Chennai (4) Mumbai

HoegT HTHTETS! AT/ SPACE FOR ROUGH WORK
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126. & 2010 "= Wefymk feAue a1 merd sivien sudt famveren gatapse e i gwer
YEH &0ATd AT 7
(1) 7295 (2) 7T (3) weH3 (4) eIt e A
In 2010, which Marathi film was awarded the best film national award in the
regional film category ?
(1) Natchandra (2) Natrang (3) Natmantra (4) None of the above

127. 2010 9= SeledT ULHA T8d 10 R HIZT GIauar=aT Ted Hione A 95 e ?
(1) @t fir (2) Hlaausa (3) T AgaTA (4) FEUET T
Who won the silver medal in 10,000 meters running competition in 2010
Commonwealth games ?
(1) Swati Shinde (2) Kavita Raut (3) Saina Nehwal (4) Kalpana Raut

128. WERIS WM Johears fficrean U= o gean I 91 7 IR,

(3) WEWT Us¥ YT uitwg
(4) FOTUHT Lt T

Name of state sponsored security machinery created by Govt. of Maharashtra is

(1) Maharashtra Security Agency

(2) Maharashtra State Police Agency
(3) Maharashtra State Security Council
(4) None of the above

129. 2011 9 25 S & faa@ shivrdn fiqa o Srei S A ?

(1) TRy e (2) waeR fe.
(3) WA AR A @) =
From 2011, 25" January was celebrated as
(1) Republic Day (2) Voters Day
(3) Human Rights Day (4) Industry Day
130. USRI Sak TR TSITAl 1 FHEEE] TR T JERR TEH 0T 3.
(1) TR T9Tea =T ST gardieRTor
(2) et Gt
3) Qaﬁl%l etanic T
(4) FATH T TR
?t the national level, the state of Maharashtra was awarded twelve national awards
or

(1) Empowerment of persons with disabilities
(2) Empowerment of women

(3) Empowerment of Youth

(4) None of the above

THoeq] SRTHTHTS! R/ SPACE FOR ROUGH WORK
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131. HFf 10 Suid T 3779 o8 91iYd Fag= ga70 1) gid AR, 9 gty feer.
(1) T (2) g (3) Ava: g (4) AV IEA

There 1s significant reduction in numbers of new HIV cases for last ten years.
Choose the correct options.

(1) True (2) False (3) Partially true (4) Partially false

132.  SIIAT Teheurs! &9 2010 =ft =fiw Fiddt emar ATMTEE gaeh! 7.
(1) 2000 TTTEE (2) 1000 A& (3) 1960 TEE (4) 2500 WE

Total power generating capacity from Koyna dam during 2010 was
Mega Watt.

(1) 2000 Mg. W. (2) 1000Mg. W. (3) 1960 Mg. W. (4) 2500 Mg. W.

133. el T8 I fEEeR 2010 HEA T TR QUTd HATET. 1 TR 774 Sial.

(1) HeEgd TR @) T s v g
(3) = (@) =iy

In December 2010, noted Marathi poet 'Grace' was felicitated with the award in
Pune. The name of the award is

(1) Keshavsut Puraskar (2) Priya G. A. Sanman
(3) Kaviraj (4) Kavibhushan
134. T3 wifec @0EE W™ 2010 T4 01 AY T, & ___ dEueE Ed.
(1) 803 (2) 814 (3) 8273 (4) 831
Marathi Literary Convention was held in Pune 1n March 2010. This was the
Convention.
(1) 80tk 2) 81st (3) 82nd (4) 83

135. <= 2010 94 v YeUd SRS S vl sEifed shedr gl ¢

(1) s (2) T (3) e (4) TR
In which city China was organized Asian Games in 2010 ?
(1) Beiging (2) Guangzhou (3) Shanghai (4) Hong Cong

136. e (. @irefl) Aofict SIaRaTer T I SN R, AT eihe Hanfs SAmayshey’
TRV Y el TR, B USATAIE fohaa STgyeRed g 7

(1) ufgen (2) =N (3) faww @) 3&T

The forest sanctuary at Chandoli (Dist. Sangli) has a status of a National Park.
Recently it is declared as ‘Sahyadri Tiger Sanctuary’. This is the tiger
sanctuary in the state.

(1) First (2) Fourth (3) Third (4) Second

Hesq] RIATATS! ARTT/SPACE FOR ROUGH WORK
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137. * HAAIohe g WeUd ATATa YRS STefl. € Y6 IV J91d o778 ?

(1) e (2) U® (3) wicferT (4) ufFRt

Recently the climate conference at Cancun was concluded. Name the country where
this city is belongs. .

(1) Brazil (2) Peru (3) Colombia (4) Mexico

138. Q&G SFHUAT UehT TG HTAiam Fe ediHaeaT et wed 80% 1 fieee. O

1g foran.
(1) 79 S (2) wreTE M
(3) L EIA (4) Toamaes o9

A Maoist suspect and top leader in the movement while in jail excelled in exams
he scored 80% in his post graduate diploma. Choose the correct name.

(1) Arun Fereira (2) Kobad Gandhi
(3) Kanu Sanyal (4) Vinayak Sen

139. aEele 7 SHOR T I,
(1) famr Frame 9 fawme iyt (1. R. D. P.)
(2) WA =R e qireeRr (T. R. AL L)
(3) o fam g yaerft memes (D. 1. C. G. C. 1)
(4) AT 3g werEEEs (D. G. C. A)
Point out the odd from the list.
(1) Insurance Regulatory and Development Authority (I. R. D. P.)
(2) Telephone Regulatory Authority of India (T. R. A. L)

(3) Deposit Insurance and Credit Gurantee Corporation of India (D. 1. C. G. C. 1)
(4) Director General of Civil Aviation (D. G. C. A))

140. wrfedien AR 1 FEET= TEHT YE 2 =
(1) WRTER §7SK A0
(2) TEHRI wHu=IAT v Ao
(3) THTT HIUTHT=AT BIaTd YTt I <0
(4) TFEAT ITLETR SIT0 T HrasTeh HRATA TREIhdT ITT0T

The aim of right to information is
(1) To end corruption
(2) Todiscipline govt. servants

(3) To have a powerful weapon in common man’s hand
(4) To make bureaucracy responsive and to bring transparency in public affairs

wHeedl HIHTETS! AR /SPACE FOR ROUGH WORK
P.T.O.
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141. $eteada AIfEd SavarareaT giager 1 o ¢

(1) 9= 3 (2) FFHM

(3) fet=a (4) a9 St
What is facility to search information on internet ?

(1) Search engine (2) Browser

(3) Directory (4) Web directory

142, 3T 2009 S~ 20 Frew yitwe F13 wwef Bt ?

(1) df@m @) fegu=n (3) Aferant 4) Toeged
The G-20 Summit was held in which of the following places in Oct. 2009 ?
(1) Paris (2) Vienna . 3) Tokiyo (4) Pittsburg

143. ‘g smadifthery’ TeheamTE Shy AT Shivre arH Fae et 7
(1) 29eft (2) TTEIA (3) dBrET (4) amn
Which village was selected by Central Government as ‘Unique Identification’
project ?
(1) Tembhali (2) Chapholi (3) Taloda (4) Warana

144, TICAIH! FHIVET I A T8 Ta=a1 FHREvmEE Sa gieat 39E digar ?
1) 3w T 2) fore (3) M @ =\
Which of the following countries launched world’s first satellite for monitoring
green house gases ?
1) U.S. A. (2) Britain (3) Japan (4) China

145. T SR ATeell AISHT shivmea| FHegmomsf Hefig e ?

(1) gefe S <om=aT O1d gereft (2) TEr gefand

(3) GOl FgaES (4) Tarfea geffanel

The scheme ‘Ladli’ launched by Government of India is related to welfare of
(1) Mother giving birth to baby girl (2) Baby girl

(3) Whole family (4) Married girl

146. 15 =1 eiskayd ford afgen gewr R4 7

(1) 49 (2) 59 (3) 45 (4) 50
How many women members are in the 15'® Lok Sabha ?
(1) 49 (2) 59 (3) 45 @) 50

HTodT HINTATS! ANT/SPACE FOR ROUGH WORK



A 33 , PSP
147. memmw ‘witen =Ty’ T stvaTar ol Sder

R ?
(1) afierg (2) Ty
(3) FAleH (4) HEATE

Which of the following State Government decided to have ‘Mahila Court’ in every
district of the state ?

(1) Tamilnadu (2) Andhra Pradesh

(3) Karnataka (4) Maharashtra

148. Yierdsh! ST magrTaT TR U YuW ¥ SHivi ¢

(1) A (2) "eEie
(3) et (4) sfaror wifen
Which among the following countries was the first to give women the right to
vote ?
(1) Iceland (2) Netherland
(3) New Zealand (4) South Korea
149. 2009 =t TR Tt I s STEaHIA S0 qId Hed Haad! 7
(1) a9z s (2) §a Feam
(3) =HF T (4) ORg wR_E
Pankaj Advani won National Snooker Championship of 2009 by defeating
(1) Devendra Joshi (2) Dhruv Setwala
(3) Yasin Merchant (4) Sourav Kothari

150. U umfior YseTR gHft FIsHT SHTaaT qElerdeh! hivred] T1aT STeae! AT ?
(1) 3few meft aror Teer &Y SR
(2) wsftg meft afior Tse T
(3) ATETATA g% UTHIUT U Tt HTraT
(4) wETedt et T USTR g e
The National Rural Employment Guarantee Act is now known by which of the
following name ?
(1) Indira Gandhi Rural Employment Guarantee Act
(2) Rajiv Gandhi Rural Employment Guarantee Act
(3) Jawaharlal Nehru Rural Employment Guarantee Act
(4) Mahatma Gandhi Rural Employment Guarantee Act

FoedT HIHTHTE! IR/ SPACE FOR ROUGH WORK
P.T.O.
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A A Fan FT I g H. 151 d 9. %, 153 = W .

<>

2 5

j—y
N
w
h
w

6 4
- A
3 @)

/
\

~l1l
(1) (2

SN’

Observe the figure and answer the question No. 151 to 153.

<> T >

5 6 3 4 5

— — |~ —

(1) (2) (3) (4)

—)

151. 3 & 3 THcAed] TSSHNAT (965 JsaTal Hiviar 3 I5 ¢
1) 4 (2) 6 3) 2 4 1
Which number will appear on the opposite side of number 3 ?

(1) 4 (2) 6 3) 2 4 1

152, foa= srmepdfi=an qraT=an TSaTeR Shivar ek 9 ¢
(1) 2 2 4 3) 3 4) 1
Which number will appear on the base surface Figure No. 3 ?

1 2 2) 4 3) 3 4 1

153. digedn ST =aT THITAT YR3TaR ShIvraT 3k I 7
1 6 @ 3 (3) 1 (4) aTdRT ATE
Which number will appear on the base surface of the Figure No. 1?

(1) 6 2) 3 3 1 (4) None of these

THoodl RINTETST ARM/SPACE FOR ROUGH WORK
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154." GreAtel TghdTa TR fohedt e arrRe 7

(1) 12 2 13
3) 15 4 16

How many triangle are in the given figure ?

(1) 12 (2 13
(3 15 4 16

155. I¥AIfeRd STFTETS! Hewe e e 3T
AN ?
M @ |- ® [ @ |

Find out the correlated diagram in place of question mark.

o | @ -] ® | @ |

156. SHAITchd SIFIETS! TEEe ad ek s

M @ (O ®» O @ )

Find out the correlated diagram in place of question mark.

VA=
m @ (O ® O @ )

THood | RITATS! FATIT/SPACE FOR ROUGH WORK

P.T.O.
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157. 1591 7 snz@.

(1) AFZ (2) BGY

Find the odd man out.

(1) AFZ (2) BGY

36

(3) CHX

(3) CHX

4)

4)

DJW

158. 3Tt 3t M.

FINKCEH

D I:]j @) [

Find the odd one out.

C

K

4)

4)

159. @Teiie %9 qof .

ZYBA, XWDC, VUFE, TSHG,

3) RQiJ

1) RQJI 2) PQlJ (4) QPRJ

Complete the following sequence.

ZYBA, XWDC, VUFE, TSHG, ?

(1) RQJI (2) PQIJ 3) RQIJ 4) QPRJ
160. ¥ fogrean Smit a1ees vatg farer.

65:101:7 ;197

(1) 85 (2) 145 3) 140 4) 170

Which number will come in the place of question mark ?

65:101:7:197

(1) 85 2) 145 3) 140 4) 170
161. ST 4096 : 64X 2116 : 7

(1) 46 2 34 3) 32 4) 44

If 4096 : 64 then 2116 : ?

(1) 46 2) 34 3) 32 (4) 44

wHEeT KIATATS! TATT/SPACE FOR ROUGH WORK



A 37 PSP
162. - ST 1235 QU + X — < T 9478 UM ® * > = 3/ AR T = * X < > I WA AU hIvrat

&1 e3ifae] Smed ?
(1) 42587 (2) 45728
(3) 84257 (4) 47852

If 1235 means +x — < and 9478 means @ *> = then which number group given
below will represeht SEx<>?

(1) 42587 (2) 45728

(3) 84257 (4) 47852

163. STO+H+P=39;M+A+N=28T8M+A+C+H+I+N+E=?

(1) 43 (2) 53

(3) 54 (4) 64
fO+H+P=39;,M+A+N=28then M+ A+C+H+I+N+E=?
(1) 43 2) 53

(3) 54 (4) 64

164. SR 4312 wvS ‘NICE’ 9 756 WU ‘PRO’ T 75312 =N &Y 7

(1) PRICE (2) RICEP
(3) CEPRI (4) PIRCE
If 4312 means ‘NICE’ and 756 means ‘PRO’ what will be the code for 75312 ?
(1) PRICE (2) RICEP
(3) CEPRI (4) PIRCE

165. SR reurs fuwrelt, fimmelt oo wfRe, Ot reorst wims onifor T vl Eiete SEE W

& M ATt AvTdie 7
(1) FowE @)
3) Wi @ o

If pen is called bag, bag is called pencil, pencil is called ink and ink is called eraser,
what should be used to carry books ?

(1) Bag (2) Pencil

(3) Ink (4) Pen

FoodT HIHATHTS! AW /SPACE FOR ROUGH WORK
- P.T.O.
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166. Grehcdsh! v 3TFd! & A, fhchet @ Feaia WRIg Ar=aTdia a1 deiyl guifen ?

Which of the following diagram shows appropriate relationship between human,
cricketer and football player ?

167. G ITFS di & IWT A7, ITE A1 T3 9 km. F1eTd TAT, IR Fead 94T &M 4 km.
3T Y. T8T dYF I9he I3 @H 15 km. TR FIUA. G-&T ThaT 9 e agd 12 km.
S HTIA T AT A1 YT Hob TATTITYS Tohef} SHara 312 ?
1) 6km 2 8km
@) 10km @) 17km

Sunil is standing facing towards north. He walked straight 9 km toward north, and
turned to right and walked 4 km. again he turned to right and walked 15 km, again
he turned to right and walked 12 km. Now how far Sunil is away from his starting

point ?
(1) 6km (2) 8km
3) 10km (4) 17km

168. DT SeaTa-er=aT SN hivrd) e A ?

6 [ 60| 5
8 | 112 7
14| 7 | 12
(1) 182 (2) 168 (3) 252 (4) 336

Which number will appear in the place of question mark in the rectangle ?

6 | 60 ] 5
8 | 112 7
14 7 [ 12
(1) 182 (2) 168 (3) 252 (4) 336

Hoodl HTHTHETS! ATTT/SPACE FOR ROUGH WORK
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169. -+ a1 fFawgr=an St ARe 38T hivra ?
S B M
H D
* F 0
1) T (2) N 3 Q 4) P
Which alphabet at the place of ‘*’ ?
S B M
H D
x F 0 | N
1) T 2 N 3 Q : 4 P
170. U Tl 40 foeneff s, 90% femmeff sifam wferen soa 9 @dh % foremeff 3ol ome,
foreft forameft ftara 3fel arey 7
1) 18 @) 20 @) 24 @ 22
A class has 40 students, 90% among them appear for the final examination out of
which two third passed. How many students passed the final examination ?
(1) 18 2) 20 (3) 24 ' (4) 22
171. Gl GEamren Iu F.
8, 3,16, 6, 24, 9, 32, .... ?
(1) 40 @) 12 (3) 14 @) 44

Complete the following number of series.
8,3,16,6,24,9,32,....7
(1) 40 2) 12 3 14 4) 44

Eﬁvvﬂlmm/SPACE FOR ROUGH WORK

P.T.O.
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172.

mﬁaaﬁm-aﬁmﬁﬁmmﬁwwﬁ?«ﬁ ere Tt st e

YT e Y Rer, 9T i fewdtd L %waﬁ}anwg?ﬁafiw SR
Hefrear freserd it forma 15,500/ - wmmwaﬁﬁwﬁmﬁmm?
1) 1,50,000/-  (2) 93,000/- @) 1,86,000/-  (4) 1,46,500/-

Mr. Ramnath gave half of his property to his eldest son, half of the remaining to
his second son and 1/3 of the rest to his daughter. If property received by daughter
is worth Rs. 15,500/- what would be the total value of Mr. Ramnath's property ?

(1) 1,50,000/- (2) 93,000/ 3) 1,86,000/- (4) 1,46,500/-

173.

31 3N & Toregd wek v 8 fiawma wXaTd. § et 99 wW 24 fiaama st 9 oF uwer T
foarama o= wm wid ?
1) 8 @) 24 (3) 12 4 10

A and B can together do a work in 8 days. B alone can do it in 24 days. In how
many days A alone will do the he same work ?
1) 8 2 24 3) 12 4 10

174.

T 99 i Far=A fawe AR, ST STl Wk 16 a9 ST, o1 SreredT aaTet s
Topeft ?
(1) 2498 ) 32 a8 (3) 40 =% (4) 48 g

The age of Rama is three times than the age of Hari. The difference between the
age of both is 16 year. What is the total of the age of both ?

(1) 24 year (2) 32 year (3) 40 year (4) 48 year

175.

Tt FeRioTa w9 faerear sl 9vg vty fast.

1 3 5
2 4 5 6 7

3
1) 74 (2) 41 3) 37 (4) 47

Choose appropriate alternative, for question mark given in a triangle.

S 3 5
A /\ /\
2 3 4 5 6 7

1) 74 2 41 3) 37 (4) 47

HESIT HIATATS! AWT/SPACE FOR ROUGH WORK
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. 9d Table 367 5. %. 1767 180 < s .
qE (AwREE | @i | ket | enem | mR
A v v v X X
B v X v v X
C X v X v v
D v X v v v
E v v X X v
Give the answer of the Q. No. 176 to 180 from the table.
Name | Apple [ Orange | Banana | Mango | Grapes
A v v v X X
B v X v v X
C X v X v v
D v X v v v
E v v X X v
176. STIET AT YU e TS TR 38 10 AR 7
1 A 2 B 3 C 4 D
Who like mango but does not like banana ?
1) A 2 B 3) C 4 D
177. 9HEE 9 Tt AT U1 ST HATESd AT 79t 107 ?
(1) AB 2) BE 3) CD (4) AE
Likes apple and orange but does not like mango.
1) AB (2) BE 3) CD 4 AE
178. Tl 9 TS ATTSATA YUT hadt HATET TN 7 vy ?
1) A @2 C 3 E 4 D
Likes orange and apple but does not like banana.
1 A @ C 3 E 4 D
179. HEEE, S o1 3184 STaeaTd it Fivr ?
(1) A @2 B @ C 4 D
Who like apple, mango and grapes ?
1) A @ B 3) C 4 D
180. THLER TS IO F1& SNSd AIEHd 374 Hior ?
(1) AB 2) BC 3) AC 4) BD
Who like apple but does not like grapes ?
(1) AB (2) BC 3) AC 4) BD

Hoodl HHTATS! FTFTT/SPACE FOR ROUGH WORK
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181. HENTY SIAfA I IS SHTIR ST R 1998%&1%5@3)%&@1?1%‘?@3,

FATAT TR@IET dt forelt a9 Jur arEal ?
(1) 9= (2) I
(3) a= (4) w@er

Under Section 5 (five) of Maharashtra Scheduled Commodities Wholesale Dealers

Licensing Order, 1998 the valid period of licence from date of issue is
(1) Five (2) Four
(3) Two (4 Six

182, Hewre y=u=r Wi (feftr) ewr 1966 =0 Giefeid=ht Fivie o= Afted firmare
TEFMERY BTaT YIETart, 31 40 §E ARRIE a0 TUahna e 7
(1) &9 11 (2) =heH 12
(3) =t 14 (4) o=hdH 18
In Maharashtra Foodgrains Rationing (second) Order, 1966 under which Section it
is mandatory for an authorised ration shopkeeper to maintain books and registers ?
(1) Section 11 (2) Section 12
(3) Section 14 (4) Section 18

183. 3 "R e s 7w wiis fegar (Tgavm a1fs awmy, feeisgem s fewm e
FAYF ) AR 2005 = TS 7 THR WIeACTish! H0E U I9 quraviie tferemm omd ?
(1) TRremare it
(2) frurarer fhgs
(38) TEgs fuaes faremarey
(4) TERF RramEed A
In the Motor Spirit and High Speed Diesel (Regulation of Supply, Distribution
and Prevention of Malpractices) Order, 2005, Section 7, who among following is
competent for inspection of petrol pumps ?

(1) Rationing officer
(2) Rationing inspector
(3) Assistant controller rationing

(4) Assistant rationing officer

HESIT HITETS! FATT/SPACE FOR ROUGH WORK
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ToedeTEs oy e (TIAyH 1% T Iie REIeqeH) a9 2000 THie Sad 7 78l
TTefteTdeh! AT G 3T 7
(1) 7 faaEn e SUd /g ATEvEE d 99 AR dau
(2) Tg=ar femdtaTad a Hresred 3l YITd helsh dranl
(3) TS T WIS ATTOIRY 39S Gl A0, GRaa fehan faght s
@) g foareT quravt @ S
What are the provisions under Section 7 of the liquified Petroleum Gas (Regulation
of Supply and Distribution) Order 2000 ?

(1) Maintenance of registers, account books by distributor

(2) Display of stock and price of liquified petroleum gas
(3) Possession, supply or sale of liquified petroleum gas equipments

(4) Power of entry, search and seizure

185.

RN Hiceee, THMT 3ig T (JIFFTY) RN 2007 Wedl JohaTd @I etish! SHemal Gurast
LT SATAT ¢

1) w=A (2) T

(3) (4) Forerag v ST

Which solvent is recently added in the Maharashtra Solvent, Raffinate and Slop
(Licensing) Order, 2007 ?

(1) Pentane (2) Iomax

(3) Aromax (4) Mixed Fuel Oil (MFO)

186.

WA AT U] R TR A1 3Tfepd firemarey gmm wiiterras frifig set omd ?
(1) Sfarawges agg =g 1955

(2) TR =T frenarey fidft smew 1966

(3) RN Veges HHINSRS A 1998

(4) I FHvraE! AR

New licence for authorised ration shop is issued under which of the order ?

(1) The Essential Commodities Act, 1955

(2) The Maharashtra Foodgrains Rationing (Second) Order 1966

(3) The Maharashtra Scheduled Commodities Order 1998

(4) None of the above

THoodT HIMTETS! AT/ SPACE FOR ROUGH WORK
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187. WERTE Wiceee, ThIAT 1o TATY (SITOH) SR 2007 Fee FHIVT FATR FETHETE

I T g TR 7
(1) &aH 21 (2) =eH 22
(3) &H 15 (4) e 17

Under which Section of the Maharashtra Solvent, Raffinate and Slop (Licencing)

Order, 2007 there is a provision for appeal against the order of licencing authority.
(1) Section 21 (2) Section 22
(3) Section 15 (4) Section 17

188, TS fireramen &= omyfua o (e fafeme) emew 1986 ® sy ST
GEIES
(1) wedl Rrerames
(2) Fes Rerared
(3) WRRIIE e ey
(4) T fawmr frmarey
The Bombay Rationing Area Scheduled Commodities (Regulation of Distribution)
Order 1986 is applicable for
(1) Urban Rationing Area
(2) Bombay Rationing Area
(3) Rationing Area of Maharashtra

(4) Pune Division Rationing Area

189, firumafyerr unes fordt wremasiaTEt firmaey S it TevIR srfear o vt Jifed
fiyases Rraaren fiar it mftepd Foea safRE 30 SEHHRE .
(1) 2 TS 2) 3 3Eas
(3) 4 3= 4) 5 3ETS
For what period of absence from rationing area a ration card holder must notify
his absence to controller of rationing or the person authorised by him ?
(1) 2Weeks (2) 3 Weeks
(3) 4 Weeks (4) 5 Weeks

HTEAT HIATEATS! AWT/SPACE FOR ROUGH WORK



A " 45 PSP
190. ‘600 fo. <. ata fadhian fega siar grearsat fordi 2o awad fe. diet f[odie ofe seedte
fegra (geiem 31 g, feefegee ofe M oife mraedide) i€t 2005 siarta 139

AR ?
(1) 0.30% @) 0.20%
(3) 0.25% @) 0.35%

What is the permissible stock variation of highspeed diesel sale above 600 k.1.
given in the Motor Spirit and Highspeed Diesel (Regulation of Supply, Distribution
and Prevention of Malpractices) Order 2005 ?

(1) 0.30% (2) 0.20%

3) 0.25% 4) 0.35%

191, WERIS STFHMIG 9% O3 foshar STafe oTewr, 1998 3R *Aifdeh gev awer’ are e

TR TR e e gzor e v fe=m.
1) 25 (2) 28
(3) 30 (4) 31

As per the Maharashtra Scheduled Commodities Wholesale Dealers Licensing
Order, 1998, monthly grinding capacity means daily grinding capacity of a Roller

Flour Mill multiplied by days.
(1) 25 (2) 28
(3 30 @ 31

192, WENTS ST I Uk fahar STgafar STSY 1998 7 "rdheh AT F1=n 312 wra=an

Heuld Gh1 9@ Terea wftamomian s arat= Wi, faehy fhan fasfierd greau
FOTRT Tl 37T TR,

(1) 10 2 25

3) 50 (4) 100

As per the Maharashtra Scheduled Commodities Wholesale Dealer Licensing

Order, 1998 in relation to sugar, wholesale dealer means a person who carries on

business of purchase, sale or storage for the sale of sugar in quantities exceeding
quintals at any one time.

(1) 10 (2) 25

3) 50 (4) 100

THTTAT HTHTEATS! AWTT/SPACE FOR ROUGH WORK
P.T.O.



PSP

46

WWW(W)WWNGGWWW

193.

T AT F FHAAT AGAT 3T g Rrumafiesg wwis FHt Hamardt T ot
HeY 3T 01 37afdrd o,

1) 8,9 2 9,8
3) 14, 15 4) 15, 14
As per the provision of Maharashtra Foodgrains Rationing (Second) Regulation
Order 1966, applicant should apply in form no. for increasing units on
ration card and in form no. for reducing units on ration card.
1 8,9 @ 9,8
3) 14,15 4) 15,14

194, HEWRg SF=ur framarey ( fidie) fafema ofewr 1966 R s siftrspa fRremarey gewmerm™
T A §& FUSATE e ] e Rraare feg@ e A
30 IATETIE AR,
1) 15 (2 30 3) 45 4) 90
As per the Maharashtra Foodgrains Rationing (Second) Regulation Order, 1966
every ration shop intending to stop the business of supplying rationed foodgrain
shall give days previous notice to the controller.
1) 15 (2) 30 3) 45 (4) 90

195. HeRTE =tur Wi (faeia) smewr 1966 a2 iftekra framarey gmem™ fahdt amma
TR ST 0! ATIIF AR 7
(1) = 100 (2) %.500
(3) ®. 2,000 (4) ®. 5,000
As per Maharashtra Foodgrains Rationing (Second) Order 1966 what is deposit
amount to be paid by authorised ration shopkeeper ?
(1) Rs. 100 (2) Rs. 500
(3) Rs. 2,000 (4) Rs. 5,000

196. e aifrrr afifaam 2005 & WU HATd §a7 AT 3T,
(1) S 9 HIFET (2) TRU T TR gt
(3) &M (4) T
Rights to Information Act 2005 is applicable everywhere else in Indiaexcept __
(1) Jammu and Kashmir (2) Dadara and Nagar Haveli
(3) Lakshdweep 4 Goa

HESIT HATATS ATTT/SPACE FOR ROUGH WORK
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197. FERTS AT daT ( e wrae, T dar St e, seaht § A3 Higu e are
FTerdie v fem 1981 siwia vemew st wuret wremater ot faaart s ?
(1) 15 fegm (2) 20 fe==
(3) 30 feaw (@) 21 fe=m
What is the maximum joining period as per the Maharashtra Civil Services
(Joining Time, Foreign Service and Payment During Suspension, Dismissal and
Removal) Rules 1981.
(1) 15 Days (2) 20 Days
(3) 30Days (4) 21 Days

198. wHifgd) srftrrr wrrETard ufga i sae svamaat fadt feaur=h s wafer R 7

(1) 21 feam 2) 30 feam
(3) 60 feam 4) 90 fea=m
What is the maximum time limit to file the first appeal under the R.T.I. Act ?
(1) 21 Days (2) 30Days
(3) 60 Days (4) 90 Days
199. WERT AFR ¥4 (da= gaararer dt ) faw 1981 ER RS Aqe 97 WY
A 1 AT Hesd AT aren swvEren et s mfdes wen.
(1) Fg e e @ frafe s
(3) fagw ad= (4) SEW a1 g@Ema Faet aa
As per Maharashtra Civil Services (General Conditions) Rules 1981 18

monthly amount given to Government employee who does not get monthly salary
and leave salary.

(1) Family pension (2) Subsistence allowance

(3) Special pay (4) Wound or injury pension

200. WERTS ATTH HaT (ATER ST SecdT™ A gH 1T I T YR IISarT
g faciea giasiy) rfifrm 2005 3=’ forr Aspefte Tadia e ‘%’ wefier srkar=m=n
T TeTaRiel srerad] ferdt o emmg 7
(1) 498 () 298 (3) 68 @ 59§
What is normal period of stay for one posting of non-secretariat class I1I employee
as per Maharashtra Civil Services (Govt. Servants Regulation of Transfers and
Prevention of Delay in Discharge of Official Duties) Act 2005 ?
(1) 4 Year (2) 2 Year (3) 6 Year (49 5Year
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(8) vwgweHe it oo fftre smie w3 & m (Tead) S04, Jrgfassiaiea saufiFa
T 30K HIEEH FHed T hed™d o HIAT FOITAT ILH Fd AR, T8 T T8 § AR
INSINER IHAH S Shetedn * TOamed Brom=a1 ARG Tiday sugrarsias Jifan-82”
AT TATHR HRATE HLUATT A3 J QYT S} AT Uk Y eaT HRIGTATAT 1107 /et 399
Teh R ThH=a1 o4l fTse T 81da.

(9) He FEUGFHEE AT fafEa doiell 98 TueaHa SAGaRIaT § ST wd: siet
TR U SO WA ATE. W WIS HeTER ATl INga- STaedt
IAWHABT €T — 1 GHAFETHRS 7 @@ wa oot Aavas e,

AHAT 91
T . 201. T T T FOIEIS FHIO qord: I F 7
(1) @ Tae grad (2) SvatEe fEmErr
(3) TSI UHARA U (4) TITSFT TG

T SR A I (3) T THHIEA T 378 37T . e a1 W9 34t (3)” B1ded. areda
WTHATATAT T, F. 201 TORIA ST-F0F (@) & e U0 SRR F& Frafarm
AT ATR.

3%.20.. @O @ @ @

T UG T TG ek Ie Sedieh FeTET QU St §1 grelell [aadican Qiaciodr
IufRaid o W SHFHTHEH R Fa i age qofa srifhd wE IEamET. g et
Ferd shTeedT VITSS STeTdA AT, Uf=aet ar wig=) U e 3.
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